Joogd Il No. 200

1LLF(s)=2(f/)0000s>00000lmy_ o e 5 cost =0, limy_,o, e 5 sint =

o0

Z(f) = /Ooo e *sint dt = [—e_St cost}

— s/ e Stcost dt
0 0

=1-—s5 ({e‘“sint}j%—s/ e *sint dt) =1-—5°F(s)
0

1

S

(2)

o)

Z(f) :/0 e Stcost dt = [e’“sint}go—i—s/o e *'sint dt

s
gooddF(s)=
(s) s2+1
(3)
o0 2 IV ANES 27 1 <2
.z(f):/ eSttht—[—eStt} +7/ st dt—{_est] _2
0 S 0 S JO S S 0 S
2.Y(s)=.¢(y)00000000000000000
10
10 1 —s5+3
Y — =
() (s+3)(s2+1) 3+3+32—l—1
0o
y(t) = L1 (Y(s)) = e — cost + 3sint.
ogogde:



